INSTALLATION GUIDE
GUIDE D’INSTALLATION
GUIA DE INSTALACION
INSTALLATIONSANLEITUNG

GUIDA ALL’INSTALLAZIONE

X1
i
i
=

R
iof
H
i

1 WJINLIN




TONER ,

www tonerplis_com.ua




Supplied parts

rXe—I® T

Binding screw M4 x 14.........ccocoeviiiiiiiiinenn,

Guide plate ........ccoeveriiirieeen
Fixing plate F ..

When installing the document finisher to a full-
color MFP, use parts (G), (H), (1), (J), (K) and (L)
supplied with the job separator.

A
Q E:tiﬁngg?éginisher ........................................ 1 (lz}lc))(:/ne% R'_?t?ﬁ": ...... ::1 Be sure to remove any tape and/or cushioning
C Rail retainer 1 S Tite screw M4 x 10. .9 material from supplied parts.
D Guide rail.................. 1 Shoulder SCrew ... 1
E Binding screw M4 X 6.........ccccoeveiveiiieiennnnne 4
Vis de raccordement M4 x 14 ....................... 2 Lors de l'installation du retoucheur de

Frangais

Piéces fournies

A Retoucheur de document.............ccccvvereenne 1
B Pontet du loquet .................
C Elément de rétention du rail ..
D GIiSSI€re .....cccccoeevveeveereenenn .
E Vis de raccordement M4 x6..............cceeee... 4

rX«—IO T

Plaque guide .........cccooveviiiiiiiiiiiecec e
Plaque de fixation avant
Plaque de fixation arriére .
Couvercle AT ................
Vis S Tite M4 x 10..
Vis d’épaule........cccceoviiiiiiiiiieiiiieiee s

documents sur une MFP polychrome, les piéces
(G), (H), (1), (J), (K) et (L) avec le séparateur de
travaux sont requises.

Veillez a retirer les morceaux de bande
adhésive et/ou les matériaux de rembourrage
des piéces fournies.

m F Tornillo de sujecion M4 x 14............c..cccoc.... 2 Cuando instale el finalizador de documentos en
; una MFP a todo color seran necesarias las
. G Placa guia ........ccocoviiiiiiiii 1 partes (G), (H), (I), (J), (K), y (L) suministradas
Partes suministradas 'I‘ E:aca de ;!J.ac!‘?” E 1 con el separador de tareas.
A Finalizador de documentos ..............c.cc.cuu.... 1 aca de fijacion -
B Cerrojo......cccceeveevveveereenne. . J Cubierta AT ............... -1 . :
C Retén del carril - Y K Tornillo S Tite M4 x 10 .. 9 Asegurese de despegar todas las cintas y/o
D Carril guia... 1 L Tornillo de hombro ..........cccccceveiiciiiccenee 1 material amortiguador de las partes
E Tornillo de sujecion M4 x .4 suministradas.
F Verbundschraube M4 x 14 ...........ccccceeevuennne 2 Wenn der Dokument-Finisher auf einem
. Farbmultifunktionsgerat angebracht wird, sind
. . G Flhrungsplatte ... 1 die Teile (G), (H), (1), (J), (K) und (L), die mit
Gelieferte Teile H Fixierplatte F ... 1 dem Jobtrenner gelieferten erforderlich.
A Dokument FiniShers ..........ccccoeeevvririeveeennnns 1 | Fixierplatte R ... -1
B RiegelschIoBbausatz ...... 21 J Abqukung AT s, -1 Entf Sie Klebeband d/od
C Schienenhalterungseinheit.. 1 K S-Tite-Schraube M4 x 10. -9 nternen sie Kiebeband und/oder
D Fihrungsschieneneinheit ... 1 L Bundschraube.............ccccoviiiiiiiiiiiie 1 Dampfungsmaterial vollstandig von den
E Verbundschraube M4 x 6 ..........c.ccocevveennnnne 4 mitgelieferten Teilen.
m F Vite di serraggio M4 x 14 ........cceeiiiiinnennn. 2 Per l'installazione della finitrice di documenti su
) ] un MFP a colori, sono necessarie le parti (G),
Parti fornit a E:gzgg gﬁ[:gsglgg%-# ------------------------------------- (H), (1), (J), (K) e (L) fornite in dotazione con il
arti fornite ! H O separatore dei lavori.
A Finitrice di dOCUMeNti -................ccorrrrrrrrrreres 1 ! E‘;}";gri;’i'of',i%agg'° R P
(B: Elesrpr)r?cflcti“ellcl)adét?irégsto K Vite S Tite M4 % 10 ... N Accertarsi di rimuovere tutti i nastri adesivi e/o il
D Guida della rotaia ....... L Vite @ colletto .......coevvveririiiiiiiiiceee materiale di imbottitura dalle parti fornite.

E Vite diserraggio M4 X 6..........cccceveviveennnnne 4
R (F)MA4 % LA ZHIRET .o 2 A MFP_EBeiT i, 40 L 20
o QS ik ) i LI JE BB AT (G)s () D ()~ (K) A (L)«
(BEEE'T“;S ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, (H) FMEMRF ... 1 U SRR A AT e e« B RE 45 048
(B) £ IR (@) [EER R . 1 T
(COVBLIBJE....... () FEL AT oo 1
(D) MHLE.... (K)ZEFIZET M4 X 108 o 9
(B)M4 x O Z5 4247 .. (L) BBEIZET oo 1
F B2 MXM4NRLUR o 2 R¥a A T 4=y ZRIET 56,
Ta TN —ZIMET S 6. M), (D, ().
14 & G HA BB o 1 K. (L) BRELRB,
X a2 A > H BIER Forr e 1
Il;\ %0 *ﬂ«h T OFEEA Roveee e 1 [ [ E T — 7 SRR DD TD D 5
L=/ J HR— AT 1 ITTE AT Z &,
D HA M/—/v K EXMEXI10SHAD oo, 9
FEAMX6ALYR . 4 LOBMFE R 1




Procedure

Before installing the document finisher, first
attach the job separator.

Be sure to turn the MFP main power switch off
and disconnect the MFP power plug from the
wall outlet before starting to install the document
finisher.

1. Place the document finisher (A) sideways,
remove the eight screws (1), and remove the
two pieces of fittings (2).

2. To align the document finisher with the paper
outlet of the MFP, slide the legs of the
document finisher (A) to the uppermost
positions indicated in the illustration, attach
the two pieces of fittings (2) that have been
removed in step 1, and secure them using
the eight screws (1).

Procédure

Avant d'installer le retoucheur de document,
fixer d'abord le séparateur de travaux.

Veiller a bien mettre l'interrupteur principal du
MFP hors tension et a débrancher la fiche
d’alimentation du MFP de la prise murale avant
de commencer l'installation du retoucheur de
document.

1. Placer le retoucheur de document (A) sur le
coté, retirer les huit vis (1), et retirer les deux
pieces de fixation (2).

2. Pour aligner le retoucheur de document sur
la sortie de papier du MFP, faire glisser les
pieds du retoucheur de document (A)
jusqu’aux positions les plus hautes
indiquées sur l'illustration, fixer les deux
piéces de fixation (2) qui avaient été retirées
auparavant a I'étape 1, et les fixer a l'aide
des huit vis (1).

Procedimiento

Antes de instalar el finalizador de documentos,
coloque primero el separador de trabajos.
Asegurese de apagar el interruptor principal del
MFP y de desconectar la clavija de alimentacion
del MFP de la toma de corriente de la pared,
antes de empezar a instalar el finalizador de
documentos.

1. Apoye el finalizador de documentos (A)
sobre un lado, saque los ocho tornillos (1) y
saque dos piezas de herrajes (2).

2. Para alinear el finalizador de documentos
con la salida de papel del MFP, deslice las
patas del finalizador de documentos (A) a
las posiciones superiores indicadas en la
figura, instale las dos piezas de herrajes (2)
desmontadas en el paso 1y asegurelos con
los ocho tornillos (1).

Verfahren

Vor dem Installieren des Dokument Finishers ist
zuerst der Jobtrenner anzubringen.

Schalten Sie den MFP-Hauptschalter aus, und
ziehen Sie den MFP-Netzstecker von der
Netzsteckdose ab, bevor Sie mit der Installation
des Dokument Finishers beginnen.

1. Den Dokument Finisher (A) auf die Seite
legen, die acht Schrauben (1) entfernen, und
die zwei Befestigungsteile (2) abnehmen.

2. Um den Dokument Finisher auf den
Papierauslass des MFP auszurichten, die
Beine des Dokument Finishers (A) auf die in
der Abbildung gezeigte oberste Position
schieben, dann die zwei in Schritt 1
entfernten Befestigungsteile (2) anbringen
und mit den acht Schrauben (1) befestigen.

Procedura

Prima di installare la finitrice di documenti,
installare prima il separatore dei lavori.

Prima di dare inizio alla procedura di
installazione della finitrice di documenti, non
mancare di spegnere 'MFP usando l'interruttore
principale di alimentazione e disinserire la spina
dellMFP dalla presa a muro della rete elettrica.

1. Collocare la finitrice di documenti (A)
lateralmente, rimuovere le otto viti (1) e
rimuovere i due pezzi di raccordo (2).

2. Per allineare la finitrice di documenti con
I'uscita della carta del’MFP, fare scivolare i
piedini della finitrice di documenti (A) sulle
posizioni piu in alto indicate nel disegno,
montare i due pezzi di raccordo (2) che sono
stati rimossi nel passo 1 e fissarli utilizzando
le otto viti (1).

RS
EHRRT BT, FOR SRS B3
GRS MEPE LY B L
8 HEMEP L H U Sk DA E 5

1 REEIT AR AR CE, #F8MERET(D),

WA, BUR2ANE Z Q).

2. T XHMELAHR, 5‘645’”1J%§(A)H’]¢}Lﬂ*ﬂ

fﬁﬁd]?'lriﬁﬁﬂ’]f\/ - CAn T 7 1 o7
WG, Hke ﬁ%?%lﬂlTH’ZAE]n:#FQ),
I FHSAIBET (LA €.

B FIE
l\ﬂ?;)‘/l\7/r-//’(’f¢’HRV)H T BERIC
eyl LRV e 5%'“:3-5’3'5 k

L%Eﬁ = L

1. F¥a A b7 =y vy (W) ZHMEICE

. A (D8AZS L EELE 22 %
v 49,

2. KEMAMEHEHAICEDED B, REa A b

7 4=y vy (A) OMEE EONE (KoAL
E)ETATA RSH, FIET TR L
BE4E @2 B E2HRYFiF. B2 (D8 AT
EET 5,




Secure the guide plate (G) using the
shoulder screw (L) and an S Tite screw M4 x
10 (K).

)
B,

Y/

\

x
Z

J

I

i my

3

N

Fit the fixing plate F (H) and the fixing plate
R (1) to the left cover (3) using two S Tite
screws M4 x 10 (K) for each and fit the cover
AT (J) to the fixing plate F (H) using two S
Tite screws M4 x 10 (K).

5. Fit the latch catch (B) to the fixing plate F (H)
and the fixing plate R (I) using two S Tite
screws M4 x 10 (K).

. Fixez la plaque guide (G) a l'aide de la vis

d’épaule (L) et d’'une vis S Tite M4 x 10 (K).

. Fixer la plaque de fixation avant (H) et la

plague de fixation arriére (l) sur le couvercle
de gauche (3) a I'aide de deux vis S Tite M4
x 10 (K) chaque et fixer le couvercle AT (J)
sur la plaque de fixation avant (H) a I'aide de
deux vis S Tite M4 x 10 (K).

5. Fixer le pontet du loquet (B) sur la plaque de
fixation avant (H) et sur la plaque de fixation
arriere (1) a I'aide de deux vis S Tite M4 x 10

(K).

. Asegure la placa guia (G) utilizando el

tornillo de hombro (L) y un tornillo S Tite M4
x 10 (K).

. Encaje la placa de fijaciéon F (H) y la placa de

fijacion R (l) en la cubierta izquierda (3)
utilizando dos tornillos S Tite M4 x 10 (K)
para cada una y encaje la cubierta AT (J) en
la placa de fijacion F (H) utilizando dos
tornillos S Tite M4 x 10 (K).

5. Encaje el cerrojo (B) en la placa de fijacion F
(H) y la placa de fijacion R (1) utilizando los
dos tornillos S Tite M4 x 10 (K).

. Die Fiihrungsplatte (G) mit der

Bundschraube (L) und einer S-Tite-
Schraube M4 x 10 (K) befestigen.

. Die Fixierplatte F (H) und die Fixierplatte R

() mit je zwei S-Tite-Schrauben M4 x 10 (K)
an der linken Abdeckung (3) anbringen, und
die Abdeckung AT (J) mit zwei S-Tite-
Schrauben M4 x 10 (K) an der Fixierplatte F
(H) anbringen.

5. Die RiegelschloRbausatz (B) mit zwei S-Tite-
Schrauben M4 x 10 (K) an der Fixierplatte F
(H) und die Fixierplatte R (I) anbringen.

. Fissare la piastra della guida (G) utilizzando

la vite a colletto (L) e la vite S Tite M4 x 10
(K).

. Montare la piastra di fissaggio F (H) e la

piastra di fissaggio R (I) sul coperchio
sinistro (3) usando due vite S Tite M4 x 10
(K) per ciascuna di esse e montare il
coperchio AT (J) sulla piastra di fissaggio F
(H) usando due vite S Tite M4 x 10 (K).

5. Montare il dispositivo di arresto (B) sulla
piastra di fissaggio F (H) e sulla piastra di
fissaggio R (I) usando due vite S Tite M4 x
10 (K).

AE BT BRERET (L) FE [ BRETM4 X 10S (K) -1
M E FHG) -

4 [ 72 BE(H) A 72 BR (1) 9 531 FH 24 55 i M
22 M4 X 10SE) Il A 2 di il (3) b, bl
AT) 2 B [ 2 22 M4 X 10S (KO 7 75 [t 72
BFH) .

5. HEEZ (B AN B R 22 M4 X 10S(K) i

S A ] 7 BRCE(H) AN E AR (D)

ARG ZBEfEEA (L) LA M X

10S # A b (K) % 1 R CTREET 5,

WJINLIN

- BEEMR FH) &REEMR RO &8 32— (3)

IZE A M4 X 10S # 4 b (K) 4% 2 R CREE
L H/S—AT(]) Z#EZ M4 X 10S Z A bk
K)2 RCHEER FH) ICEET 2,

5. v FZIFHK B) Z#E A M4 X 10S ¥ A b

%IE)Z A CEEMR FMH) &EER RO IZEE
%,




- J

. Tip the rail retainer (C) over in the direction
of the arrow so that the retainer fits into the
groove in the guide rail (D).

Ensure that the plate spring (4) fits into the
groove and that the edge (5) of the guide rail
(D) fits between the rollers behind the rail
retainer (C).

7. Orient the guide rail (D) such that its pulley (6) is positioned toward the MFP.

. Retourner I'élément de rétention du rail (C)
dans la direction de la fleche de sorte que
I'élément de rétention s'insére dans la
rainure de la glissiére (D).

S'assurer que le ressort de plaque (4)
s'insére dans la rainure et que le bord (5) de
la glissiére (D) s'insére entre les rouleaux se
trouvant derriére I'élément de rétention du
rail (C).

7. Orienter la glissiére (D) de maniére que sa poulie (6) soit orientée vers le MFP.

. Incline el retén del carril (C ) en la direccion
de la flecha de forma tal que el retén encaje
en la acanaladura del carril guia (D).
Asegurese de que el resorte de la placa (4)
encaje en la acanaladura y de que el borde
(5) del carril guia (D) encaje entre los rodillos
detras del retén del carril (C ).

7. Oriente el carril guia (D) de modo que su polea (6) se encuentre ubicada hacia el MFP.

. Die Schienenhalterungseinheit (C) so weit in
Pfeilrichtung neigen, dass die Halterung in
die Rille der Fiihrungsschieneneinheit (D)
greift.

Darauf achten, dass die Tellerfeder (4) in die
Rille passt, und dass die Kante (5) der
FlUhrungsschieneneinheit (D) zwischen den
Rollen auf der Rickseite der
Schienenhalterungseinheit (C) sitzt.

7. Richten Sie die Fiihrungsschiene (D) so aus, dal} die Riemenscheibe (6) zum MFP ausgerichtet
ist.

. Capovolgere il fermo della guida (C) nella
direzione della freccia, in modo che il fermo
si inserisca nella scanalatura della guida
della rotaia (D).

Assicurarsi che la molla della piastra (4) si
inserisca nella scanalatura, e che il bordo (5)
della guida della rotaia (D) si inserisca tra i
rulli dietro il fermo della guida (C).

7. Orientare la guida della rotaia (D) in modo da posizionare la puleggia (6) in direzione del’MFP.

B K BUIE PE (C) W B kTR T7 I R 3], A
JE RN T EIGE (D) I

T RAR S (4) IR, O B S i s
(D) 3%k (5) RN FUIEE (C) Ja IR

7. i S E (D) 1R FE HB (6) 3 [ MFP AL,

. L VIRAHR (C) & RENF AN L 1/~/u
E(H*F ©) ZHA FL— (D) 0)]%
BTIHEDIAT,

B S % ET !j \ﬁ n v—wWﬂF
w { Off RL—n
Vi)

1. A Kb— (D) ©o=ai (6) % MFP AN T 5,




8. Secure the rail retainer (C) to the MFP using two M4 x 10 binding screws (F) such that the front
and the rear gaps between the floor and the rail retainer (C) are approximately 8.0 mm.

a: When the paper feeder of 3000 sheets is used

b: When the paper feeder of 500 sheets x 2 is used

9. Insert the guide rail (D) into the bottom of the
document finisher (A).

. Fixer I'élément de rétention du rail (C) au MFP a l'aide de deux vis de raccordement M4 x 10
(F) de maniére que les écarts avant et arriére entre le sol et I'élément de rétention du rail (C)
soient d’environ 8.0 mm.

a: Lors de I'utilisation de I'alimenteur de papier de 3000 feuilles
b: Lors de I'utilisation de I'alimenteur de papier de 500 feuilles x 2

9. Insérer la glissiére (D) en bas du retoucheur
de document (A).

. Asegure el retén del carril (C) a el MFP usando dos tornillos de sujecion M4 x 10 (F) de modo
que los espacios frontal y trasero entre el piso y el retén del carril (C) sean de
aproximadamente 8.0 mm.

a: Cuando se utiliza el alimentador de papel de 3000 hojas
b: Cuando se utiliza el alimentador de papel de 500 hojas x 2

9. Inserte el carril de guia (D) en la parte
inferior del finalizador de documentos (A).

. Bringen Sie die Schienenhalterung (C) am MFP mit zwei M4 x 10 VVerbundschrauben (F) so an,
daB die vorderen und hinteren Abstande zwischen Boden und Schienenhalterung (C) etwa 8.0
mm betragen.

a: Bei Verwendung des Papiervorschubs fir 3000 Blatter
b: Bei Verwendung des Papiervorschubs fiir 500 Blatter x 2

9. Die Fihrungsschiene (D) in das Unterteil
des Dokument Finishers (A) einschieben.

. Assicurare il fermo della guida (C) al’MFP utilizzando le due viti di serraggio M4 x 10 (F), in
modo che la distanza anteriore e posteriore tra il pavimento ed il fermo della guida (C) sia di
circa 8.0 mm.

a: Quando si utilizza I'alimentatore di carta da 3000 fogli
b: Quando si utilizza I'alimentatore di carta da 500 fogli x 2

9. Inserire la guida della rotaia (D) nella parte
inferiore della finitrice di documenti (A).

8. JHP/~M4 x 14[8 &5 4R £ (F) 45 L1 2 (O) [ & T MFP EALE eis,  HLis () S5k

R 24 A 8.0 5 K
a: {§ 3000 3k LK &Rt
b: {£F 500 3k X 2 MEK SRS

9.4 1) FLIE (DR AR 1T (A 1 R T,

8. L— VEIR (C) &R DRI 8. 0mm 1272 5 & 5 12, L—/VEUSHR (C) % MFP AIRICE

AMA X 14342 K (P2 ARKTHEHET S,
a: 3000 frr— 8 —7 4 —HF DL

bi (500 £ X 23— 18 £ — A DL
1'UINCIY

9. FFa A b7 4=y v (A) DERMICTA
FL—n (D) /AT 5,




-

Fitting and adjusting the guide rail

10. While pressing the guide rail (D) to the document finisher (A) so that the gap between the guide
rail (D) and the floor is approximately 10 mm, secure it using two M4 x 6 binding screws (E).

Note

If the guide rail is not properly adjusted, the guide rail may not move when the document finisher is

separated.

1.

Secure the guide rail (D) with the two M4 x 6
binding screws (E) so that there is a gap of
approximately 10 mm between the rail and
the floor.

Fixation et réglage de la glissiére

10.Tout en pressant la glissiére (D) contre le retoucheur de document (A) de fagon que I'écart entre
la glissiére (D) et le sol soit d’environ 10 mm, la fixer a I'aide de deux vis de raccordement M4 x
6 (E).

Remarque

Si la glissiére n’est pas réglée correctement, la glissiére risquera de ne pas se déplacer lorsque le

retoucheur de document sera séparé.

1.

Fixer la glissiere (D) a I'aide des deux vis de
fixation M4 x 6 (E) de sorte @ ménager un
espace d'environ 10 mm entre la glissiére et
le sol.

Fijacion y ajuste del carril de guia

10.Mientras presiona el carril de guia (D) en el finalizador de documentos (A) para que la
separacion entre el carril de guia (D) y el piso sea de unos 10 mm, asegurelo utilizando dos
tornillos de fijacion M4 x 6 (E).

Nota

Si el carril de guia no esta bien ajustado, el carril de guia puede no moverse cuando se separa el

finalizador de documentos.

1.

Asegure el carril guia (D) con dos tornillos
de sujecion M4 x 6 (E ) de forma tal que
exista un espacio de aproximadamente 10
mm entre el carril y el piso.

Anbringen und Einstellen der Fiihrungsschieneneinheit

10.Die Fuhrungsschiene (D) gegen den Dokument Finisher (A) gedriickt halten, so dass der
Abstand zwischen der Flihrungsschiene (D) und dem Boden ca. 10 mm betragt, und mit zwei
M4 x 6 Befestigungsschrauben (E) sichern.

Hinweis

Falls die Fihrungsschieneneinheit nicht korrekt eingestellt ist, bewegt sie sich beim Trennen des

Dokument Finishers eventuell nicht.

1.

Die Fuhrungsschieneneinheit (D) mit den
beiden M4 x 6 Verbundschrauben (E) so
sichern, dass ein Abstand von etwa 10 mm
zwischen Schiene und Boden vorhanden ist.

Montaggio e regolazione della guida della rotaia

10. Mentre si tiene premuta la guida della rotaia (D) alla finitrice di documenti (A) in modo che lo
spazio tra la guida della rotaia (D) e il pavimento sia di circa 10 mm, fissarla a mezzo di due viti
di serraggio M4 x 6 (E).

Nota

Se la guida della rotaia non & regolata correttamente, potrebbe non muoversi quando il separatore

la finitrice di documenti verra staccato.

1.

Fissare la guida della rotaia (D) con le due
viti di serraggio M4 x 6 (E) in modo che ci sia
una distanza di circa 10 mm tra la rotaia e il
pavimento.

EmPENRERE

10. P2 S HLE D) 5 AR 2 (W F [ BE A 102k A4, S mEEO) il AT HWHK, H
P~ M4 > 6 [ 45 15T (B) iF 17 [ 22

a1

R ASRE IE A48 S PUE ATE, TE2> BT BN, ATRE S R AR S B S RERE S L.

11.

H1 24> M4 x 6 Z58RET (B) 45 3 17) L1 (D)
I, A CRAUE AL [ 29 10 22K
Bl

HA FL—IILOEfTERE
10. A4 FL—v (D) &KE OB 10mm (2725 X 51 A FL—b D) Z R¥=2 A b7 ¢
=y U (WD ACREH TN G EXM4X6A4/F(D2$TIET7

ELWh“ Mﬁ4ﬂ//ﬂ¢@tﬂ%ﬁbﬁ# A RL—ADEnending b

HA RL—L (D) &R DR F'ﬁ?ﬁ)n’*’] 10mm {2

AL EA M X634 R
EET 5,

®2KT




- J

12.Loosen temporarily the two screws (8) that secure the sheet metal (7) of the rail mounting plate
(C) on the MFP , raise the sheet metal (7) by two divisions of the scale from the guide rail (D),
and tighten the two screws (8).

Note

If the guide rail (D) is not adjusted correctly, it will not move and could cause the document finisher

to fall over.

13.Slide the document finisher to engage it with
the latch catch of the MFP. If the document
finisher and the MFP do not engage
securely, perform the following document
finisher height adjustment.

12.Desserrer provisoirement les deux vis (8) qui fixent la feuille métallique (7) de la plaque de
montage du rail (C) sur le MFP , élever la feuille métallique (7) de deux crans sur I'échelle de la
glissiere (D), puis resserrer les deux vis (8).

Remarque

Si la glissiére (D) n'est pas ajustée proprement, elle ne va pas se déplacer et le retoucheur de

document risque de tomber.

13.Faire glisser le retoucheur de document pour
I'engager dans le pontet du loquet du MFP.
Si le retoucheur de document et le MFP ne
s’engagent pas correctement, effectuer le
réglage de hauteur suivant sur le retoucheur
de document.

12. Afloje temporalmente los dos tornillos (8) que aseguran la hoja de metal (7) de la placa de
montaje de carril (C) en el MFP , levante la hoja de metal (7) con dos divisiones de la escala del
carril de guia (D) y apriete los dos tornillos (8).

Nota

Si no se ajusta correctamente el carril guia (D), éste no se movera y puede provocar que el

finalizador de documentos se caiga.

13.Deslice el finalizador de documentos hasta
que enganche con el cerrojo del MFP. Si el
finalizador de documentos y el MFP no se
acoplan de manera segura, realice el
siguiente ajuste de la altura del finalizador
de documentos.

12.Die zwei Schrauben (8), die das Blech (7) der Schienenmontageplatte (C) am MFP sichern,
voriibergehend I6sen, das Blech (7) um zwei Teilstriche der Skala von der Fihrungsschiene (D)
aus anheben, und die zwei Schrauben (8) wieder anziehen.

Hinweis

Falls die Flihrungsschieneneinheit (D) nicht ordnungsgeman eingestellt ist, kann sie sich nicht

bewegen und kénnte dazu fihren, dass der Dokument Finisher umfalit.

13.Den Dokument Finisher verschieben, um ihn
mit dem RiegelschloRbausatz des MFP in
Eingriff zu bringen. Wenn der Dokument
Finisher und der MFP nicht richtig ineinander
eingreifen, fiihren Sie die folgende
Hoéheneinstellung fir den Dokument Finisher
aus.

12. Allentare temporaneamente le due viti (8) che fissano il foglio metallico (7) della piastra di
montaggio della rotaia (C) del’MFP , sollevare il foglio di metallo (7) di due posizioni sulla guida
della rotaia (D) e serrare le due viti (8).

Nota

Se la guida della rotaia (D) non & regolata correttamente, essa non si muovera e potra causare la

caduta della finitrice di documenti.

13.Fare scivolare la finitrice di documenti per
farla innestare con il dispositivo di arresto
del’MFP. Qualora la finitrice di documenti e
I'MFP non si innestino saldamente,
osservare la seguente procedura di
regolazione dell’altezza della finitrice di
documenti.

12, RS EAEMEP AL MULTE A (O 4 Jad A (7) L 1 P9 5[] HEMRET(8), A6 TR AR (DL 2
_FIHIEORARET, It EER2 2 EIALE, RI5 PSR QB E.

=
WUREA EMIE S H0E, el ILEEs), Jfa TESET i E.

13, B3I 2RI T MEFP E AL AR
R E,
gﬁ%%%,%ﬁ?ﬁi%ﬁ%%ﬂ%%%

12 MFP AEMI D L — VEUASHR (C) DA (T) ZBEEL TWD ER (8)2 K&\ o7z Aitkih  #id:
(1) 04 FL—n D) ([ZH ToiRiB S 2 HEEY EOMEICH T T B A (8)2 A [EHET
55

Einb“ik—E RGBS FF A b7 =y v e BB BB 5,

B FF¥aA T 4= ¥ EATA FSH
TMFP RIKD T v F5Z T IS HAE X H 5, il
FEIGHEFE LR WERIT RO KF o 20 b
TA=y Y DESTHEEBZ729,




Adjusting the height of the document

finisher

1. Remove two screws (9) and remove the
covers (10) from the document finisher (A).

. Loosen the two screws (11) on the rear right caster of the document finisher (A). Adjust the
height of the rear right caster by turning its adjustment bolt (14) using a cross-headed
screwdriver so that the axis of the pin (12) of the latch catch is aligned with the marking of the
slot (13) of the document finisher (A) when the document finisher (A) is joined to the MFP
(viewed from the machine front).

Turning the adjustment bolt (14) clockwise lifts the document finisher (A), while turning it
counterclockwise lowers the document finisher (A).

Réglage de la hauteur du retoucheur

de document

1. Déposer les deux vis (9) et les capots (10)
du retoucheur de document (A).

. Desserrer les deux vis (11) de la roulette arriere droite du retoucheur de document (A). Régler la
hauteur de la roulette arriére droite en tournant son boulon de réglage (14) a I'aide d’'un
tournevis cruciformede maniere que I'axe de la broche (12) du pontet du loquet soit aligné sur la
marque de la fente (13) du retoucheur de document (A) lorsque le retoucheur de document (A)
est fixé au MFP (vue a partir de I'avant de la machine).

Si I'on tourne le boulon de réglage (14) dans le sens des aiguilles d’'une montre, le retoucheur
de document (A) s’éleve; si on le tourne dans le sens inverse des aiguilles d’'une montre, le
retoucheur de document (A) s’abaisse.

Ajuste de altura del finalizador de

documentos

1. Quite los dos tornillos (9) y desmonte las
cubiertas (10) del finalizador de documentos
(A).

. Afloje los dos tornillos (11) en la rueda trasera del finalizador de documentos (A). Ajuste la
altura de la rueda trasera derecha girando su perno de ajuste (14) utilizando un destornillador
de punta en cruz para que el eje del pasador (12) en el pestillo esté alineado con la marca de la
ranura (13) del finalizador de documentos (A) cuando el finalizador de documentos (A) esté
unido a el MFP (vista del frente de la maquina).

Al girar el perno de ajuste (14) en la direccion de las manecillas del reloj se levanta el finalizador
de documentos (A) y al girar contra las manecillas del reloj baja el finalizador de documentos
(A).

Einstellen der Dokument Finisherh6he

1. Die beiden Schrauben (9) entfernen und die
Abdeckungen (10) vom Dokument Finisher
(A) abnehmen.

. Die zwei Schrauben (11) an der hinteren rechten Laufrolle des Dokument Finishers (A) I6sen.
Die Hohe der hinteren rechten Laufrolle durch Drehen ihrer Einstellschraube (14) mit einem
Kreuzschlitzschraubenzieher so einstellen, dass die Achse des Stifts (12) der
Verriegelungsklaue auf die Markierung des Schlitzes (13) des Dokument Finishers (A)
ausgerichtet ist, wenn der Dokument Finisher (A) an den MFP angesetzt ist (von der
Geratevorderseite gesehen).

Durch Drehen der Einstellschraube (14) im Uhrzeigersinn wird der Dokument Finisher (A)
angehoben, wahrend er durch Drehen entgegen dem Uhrzeigersinn abgesenkt wird.

Regolazione dell’altezza della finitrice

di documenti

1. Rimuovere le due viti (9) e quindi rimuovere i
coperchi (10) dalla finitrice di documenti (A).

. Allentare le due viti (11) sulla ruota orientabile posteriore destra della finitrice di documenti (A).
Regolare I'altezza della ruota orientabile posteriore destra ruotandone il suo bullone di
regolazione (14) a mezzo di un cacciavite a croce, in modo che I'asse del perno (12) del
dispositivo di arresto risulti allineato ai contrassegni del foro (13) della finitrice di documenti (A)
una volta che la finitrice stessa (A) viene unita al’MFP (vista dal lato frontale della macchina).
Ruotando il bullone di regolazione (14) in senso orario si solleva la finitrice di documenti (A),
mentre ruotandolo in senso antiorario si abbassa la finitrice di documenti (A).

AR FITRNSE]
1.5 R 2MRET (9), ARG MNETE (A) ¥R T
B2 (10) .

2, Hzéﬂ%%(A)):Efﬁ"{a 11 74 5[] S MRAET (LD AT AR,

HEBETT 28 (A) SMFP WL, 7 0 O i I D HE 4 R SRR (1) I o0 56 T 2 (W AL
(13)[]’]§' FERAXTHE, 7R 22 T] e e 9 5 I BRET (14) , X I A U S 1 o BEE AT T
Hﬂ;zHJE?%T(M)E!lﬁHT%JrﬁﬁﬁfEHéH]‘ AT (A), TSI B 7 1] e R ET I, UT ] 30
MRFEE.

[FFa AP Ty DESITAE]
1. BA (9) K2 AR5 L, F¥a XA b7 ¢
=y U A) © A= (10) ZBY 4T,

1 WJINLIN

2. F¥a A bT740=2y vy (W) AEOXFY AZ—OBELE A (11)

2 REHE
R¥a AL b7 4=y v (8) & MFP ARIKIZHEFE L, ﬁumbﬂf_ B, 5w
DOFELN, RFXF a2 A b7 4 =v v (M) OEN (13) OHENZA S &
FAWTHEARL N (14) ZEIL ABROXF Y AX O SHEEB IR
FEEARL N (14) ZREIFEICETE RFa A b7 o=y v ()
[ & N5

?X ﬂ:}i@t v (12)
W T T ARTANE

2
5




17a

17b

3. Adjust the height of the front right caster in the same manner as in step
2 so that each center of the hooking portions (16) of the latch catch is
aligned with the center of the two hooks (15) on the document finisher
(A) when the document finisher (A) is joined to the MFP (viewed from
above).

4. Adjust the height of the left two casters in the same manner as in step 2

so that the gaps (17a) and (17b) between the document finisher (A)
and the MFP are the same when the document finisher (A) is detached
from the MFP.

5. Reattach the removed parts to their original positions.

3. Régler la hauteur de la roulette avant droite en procédant comme a
I'étape 2, de maniére que chacun des centres des parties
d’accrochage (16) du pontet du loquet soit aligné sur le centre des
deux crochets (15) du retoucheur de document (A) lorsque le
retoucheur de document (A) est fixé au MFP (vue a partir du haut).

4. Régler la hauteur des deux roulettes gauches en procédant comme a

I'étape 2, de maniére que les écarts (17a) et (17b) entre le retoucheur
de documents (A) et la MFP soient identiques lorsque le retoucheur de
documents (A) est détaché de MFP.

5. Remettez les piéces enlevées a leur position d’origine.

3. Ajuste la altura de la rueda delantera derecha de la misma forma que
en el paso 2 para que cada centro de las partes de enganche (16) de
cada pestillo esté alineado con el centro de los dos ganchos (15) en el
finalizador de documentos (A) cuando el finalizador de documentos (A)
esta nido a el MFP (vista de arriba).

4. Ajuste la altura de las dos ruedas izquierdas de la misma forma que en

el paso 2 para que las separaciones (17a) y (17b) entre el finalizador
de documentos (A) y la MFP sean las mismas cuando el finalizador de
documentos (A) esta soltado de la MFP.

5. Vuelva a instalar las piezas desmontadas en sus posiciones originales.

3. Die Hohe der vorderen rechten Laufrolle auf die in Schritt 2
beschriebene Weise einstellen, so dass die Mitte der Rasten (16) der
Verriegelungsklaue auf die Mitte der zwei Haken (15) am Dokument
Finisher (A) ausgerichtet ist, wenn der Dokument Finisher (A) an den
MFP angesetzt ist (von oben gesehen).

4. Die Hohe der beiden linken Laufrollen auf die in Schritt 2 beschriebene

Weise einstellen, so dass die Abstande (17a) und (17b) zwischen dem
Dokument Finisher (A) und dem MFP gleich groR sind, wenn der
Dokument Finisher (A) vom MFP abgenommen wird.

5. Die entfernten Teile wieder an ihren urspriinglichen Positionen

anbringen.

3. Regolare l'altezza della ruota orientabile anteriore destra allo stesso
modo descritto al passo 2, in modo che ciascun centro delle parti di
aggancio (16) del dispositivo di arresto sia allineato al centro dei due
ganci (15) della finitrice di documenti (A), una volta che la finitrice di
documenti (A) viene unita al’MFP (vista dall’alto).

4. Regolare I'altezza delle due ruote orientabili sinistre allo stesso modo

descritto al passo 2, in modo che le distanze (17a) e (17b) tra la finitrice
di documenti (A) e 'MFP siano le stesse una volta che la finitrice di
documenti (A) viene separata dall’'MFP.

5. Rimontare le parti rimosse nelle loro posizioni originali.

3 RIT B (A S MFP EHLIESE, (O ETRIF RDEAT S AR A HE
(15) SRS ALAO) D ARRE, T4 5 25 PR AHTR 1 J7 1 e i
AT R 1A R L

4

B SR A R ) 7 S EE AP AN IR v B, AT T (AT
MFP 3= HL [l I B (1 72) F1(17b) £ AMEPEHL_EJF R 1T4%
(A A E T

5. HI T W ERIFe R |
3 RF oA M7 4 =v ¥ (A) & MFP AMICHERE L, a5 A7 kRC, 4. Fx a2 A 7 0=y ¥ (A) & MFP ARS8 0 B L72FRC, R¥ =
R¥a A 7 0=vx W) OT7 v 7 (15)25PTE T v FZITHRD AV RT7 4=y X (A) & MFP RIKDMKE (17a) (17b) BELLI 2D
BloMFES (16) OHFLRES LD 12, FIA 2 & FRERIC L THRIOF v KO FNE2 ERERIC L CTEMO X v 2% 2 DFTO @ S 2
AL DE) S B adad 729,
| o iﬁ | I‘ 5. Y 4 L7z & 500 0 (IR (115 5.,




6. After completing the installation, return to
pages 6 to 7 of the installation procedure and
loosen the four M4 x 6 binding screws (E) in
steps 10 to 11. Then loosen the two screws
(8) in step 12 and adjust the guide rail
installation.

\ ANTRTIATL AL AN \ /

_ N

Connecting the signal cable
1. Connect the signal cable (18) of the
document finisher (A) to the MFP.

-

Operation check

1. Insert the MFP power plug to the wall outlet
and turn the main power switch on.

2. Check that the paper is fed and that the
document finisher (A) operates correctly.

6. Une fois l'installation terminée, revenir aux
pages 6 et 7 du processus d'installation et
desserrer les quatre vis de fixation M4 x 6
binding screws (E) aux étapes 10 et 11.
Desserrer ensuite les deux vis (8) a I'étape
12 et régler l'installation de la glissiére.

Connexion du cable d’interconnexion
1. Connecter le cable d’interconnexion (18) du
retoucheur de document (A) au MFP.

Vérification du fonctionnement

1. Insérer la fiche d’alimentation du MFP ou
imprimante dans la prise murale et mettre
l'interrupteur principal sous tension.

2. Vérifier que le papier est fourni et que le
retoucheur de document (A) fonctionne
correctement.

6. Después de finalizada la instalacion, vuelva
a las paginas 6 a 7 del procedimiento de
instalacion y afloje los cuatro tornillos de
sujecion M4 x 6 (E) de los pasos 10 y 11.
Después, afloje los dos tornillos (8) del paso
12 y ajuste la instalacion del carril guia.

Conexion del cable de seiial
1. Conecte el cable de sefial (18) del
finalizador de documentos (A) en el MFP.

Comprobacioén operacional

1. Inserte el enchufe del MFP o impresora en el
receptaculo de la pared y encienda el
interruptor principal.

2. Asegurese de que avance el papel y
verifique que el finalizador de documentos
(A) funcione correctamente.

6. Nach Abschluss der Installation noch einmal
zu den Seiten 6 bis 7 der
Installationsprozedur zuriickkehren und die
vier M4 x 6 Verbundschrauben (E) gemaf
Schritt 10 bis 11 I6sen. Dann die beiden
Schrauben (8) in Schritt 12 I6sen und die
Befestigungsposition der
Flhrungsschieneneinheit korrigieren.

AnschlieBen des Signalkabels
1. Das Signalkabel (18) des Dokument
Finishers (A) an den MFP anschlief3en.

Betriebstest

1. Stecken Sie den Netzstecker des MFP oder
Drucker in die Netzsteckdose ein und
schalten Sie den Hauptschalter ein.

2. Vergewissern dass der Papiervorschub
funktioniert und dass der Dokument Finisher
(A) einwandfrei funktioniert.

6. Dopo aver completato il montaggio, ritornare
alle pagine 6 e 7 della procedura di
installazione e allentare le quattro viti di
serraggio M4 x 6 (E) nei passi 10 e 11.
Quindi allentare le due viti (8) nel passo 12 e
regolare l'installazione della guida della
rotaia.

Connessione del cavo del segnale
1. Collegare il cavo del segnale (18) della
finitrice di documenti (A) al’MFP.

Controllo del funzionamento

1. Inserire il cavo di alimentazione del’lMFP o
stampatore nella presa di rete e quindi
premete il pulsante generale di accensione.

2. Verificare che la carta di prova sia alimentata
e controllare che la finitrice di documenti (A)
funzioni correttamente.

6. LHSEIT J&lﬂéﬂtﬁ 6 JUANER 7 niHp e
OV, ALK 10 2 11 HRTT 4 4 Max6
[ 4592 £] (E) W’f DU 12 AT 2 MIRET
(8), BHT T RIBLIE M w4

[EEFSRLK]

1. BT HAMNESHEZLA8)IEREAMEFP LN L,

[BINELE]
1 -ﬂé}}gFPim 4 L AR Sk A AR R S, IR
Vi

2.1 A LRI HART S (A)IBATIEH .

6. FESH TH B FIRED 6 ~ 7 HIZRY
FNE10~11 DERX M4 X 6314 K (B)4
7&&0 FIE 12 DB R (8)2 7«&’2%&)‘77/(

— L DI %@‘g
1 OUNNCE

[EBHDER ]
1. F¥a 2 b7 4=y x () OEF
(18) % MFP AMRIZHEke T %,

[ EntEHERR ]

1. MFP RIEDOEBIR T 7 7k artr MIELIA
I EEIEAA v F & ONIZT D,

2. WS Z B W, FXa X b7 1=y
T (A) BIEFICEET 5 2 & 2l 5,

10



MEMO

www tonerplus_ com.ua




MEMO

www tonerplus_ com.ua




MEMO

www tonerplus_ com.ua




www. tonerplus.com.ua 7 3054 ,5\2(03?1 g




